T o e

18=6x_
What is XLV?

Round 1.8 to the nearest
whole number =

6° =
3616 + 32 =

. .c 3
Slmpllfyg =
3852 x8 =
__=1543-863
4500 + 100 =
23-17.4 =

28=4x
What is CXLII?

Round 7.49 to the nearest
whole number =

142 =

4640 + 32 =
. .. 8

Slmpllny-

7353 x 8 =

_ =3642-1283

4501 + 100 =
63 —-45.94 =

42 =6Xx
What is XCVII?

Round 15.39 to the nearest
whole number =

182 =

5984 + 32 =
. e 7

Slmpllfyz =

12643 x 8 =

_ =8753-1354

45.01 + 100 =
124 - 84.07 =



T o e

18=6x3
What is XLV? 45

Round 1.8 to the nearest
whole number =2

6% =36

3616 +32=113
. e 3 1
Simplify -=3
3852 x 8 =30816
680 = 1543 - 863
4500 + 100 = 45

23—-17.4=5.6

28=4x7
What is CXLII? 142

Round 7.49 to the nearest

whole number =7
14%2 =196

4640 + 32 = 145
. .. 8 2

Simplify -3

7353 x 8 = 58824

2359 =3642 —-1283

4501 + 100 =45.01

63 —-45.94=17.06

42 =6x7
What is XCVII? 97

Round 15.39 to the nearest
whole number = 15

182 =324

5984 + 32 =187
e 71

Simplify el

12643 x 8 =101144

7399 = 8753 - 1354

45.01 + 100 = 0.4501

124 — 84.07 = 39.93



